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OVERVIEW

The X7 quoted contradictory nin»A2a concerning whether 1"92 is required
when writing a Y3 on a boat in the rivers in *"X. The X3 resolved this
contradiction by comparing it to the dispute between 3127 "3 concerning
MAwyn 211 on boats in °"X. The 1127 who maintain it is Wwy»2 271 will
maintain that 1"92 is not required. *"7 who maintains that wynn Mo will
require 1"92. Our M10N discusses this comparison between v and MW,

Mmoo responds to an anticipated question:
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Even though the riverbed is considered as "X [why then is 1"92 required
(according to °")?']; nevertheless, the boat here has less association with

"X, than the engulfed cities which were mentioned previously?. Concerning
my%1 all but 713°9X ' maintain that 1"92 is not required. However a boat traveling on a
river, even though the riverbed is *"X, the ship on the river does not maintain the status of

>"X and even not of My>21m.° Therefore 1"92 is required.

mooIN asks:

= UYN HEN V) 123Y NI “9INN ON)
And if you will say; what connection does a vx have to the laws of "wyn?
The ®X7n3x is making a comparison between vi and wyn that whenever you are obligated
to give Twyn you are not required to say 1"92 and vice versa. There seems to be no

connection. Md01N will attempt to show the irrationality of it.
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Should it be that one who brings a ©3 in an attic® in >", it should be

considered as if he brought a 3 in "7 and be required to say 1"53, based on the
same logic -
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! See “Thinking it over’ # 1.
2R,7wh.
3 See 2py> NRoN who explains the difference between Nw22m and a boat. In the case of my%2mn the entire
area appears as one unified ‘body’; we cannot physically distinguish between *"X and the nw>21. However
ariver is a separate entity from the rest of the land and cannot be considered as being included in the land.
4 See ‘Thinking it over’ # 2.
5> The vx was written in the attic and subsequently sent to the woman.
¢ Seemingly even earth from "X would be M5 from Wwyn in an attic. See 7w N7n1 and R> MR 7"510.
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That since earth which comes to the attic from "1 is exempt from “wyn.
That ‘proves’ that the attic is not *"X concerning w¥y»n. Following the previous logic it
should therefore obligate the MW to say 1"93;’ in the same manner that a L3 brought on a
boat requires 1"92 since the earth on the boat is exempt from Wwyn.

N1D0IN answers:
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And the 5"'1 says that these two cases are not comparable for in the case

of the attic, the land below it, can be planted -
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And it is fit to be obligated in the laws of "wy» and ny2aw. Therefore the
attic is considered "X concerning °v’). However, this not the case by a

boat. The river(bed®) is not plantable and will never be 2711 in n*y2w) Twyn therefore
the 712°50 above the river(bed) is also not considered *"X even concerning "0 .

SUMMARY

A boat on a river in *"X has a lesser connection to "X than my>21n.

A vy written in an 7%V in "X does not require 1"92 even though that food
grown in the %Y are M wynn Mwd. Nevertheless, the ground upon which
the 7%y stands is NMWYHa 2°1; as opposed to a boat in the water.

THINKING IT OVER
1. Why does moon say that a nroo is myvawan ¥y73?° Perhaps (1327M) "
agree[s] with X" of our 71wn that even My are required to say 1"92?1°

2. Can we connect N190N question'! with the beginning of mooin?!2

3. What is the status of "1 19y that was placed in an 7%y; is the produce
grown from it Twyn2a 2" or not? '

7 We will need to repeat here what was mentioned in footnote # 3, namely that an attic is also a separate
entity, as is the river. See *"Xon.
¥ See >"xon.
% See footnote # 1.
10°See (1"7w) in 3> NIX 7"20.
!1'See footnote # 4.
12 See >"xon.
13 See q9"w 2",
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